Physics B2 FOrm WS8. 6. 1A Nanme

HEAT Dat e Peri od

Thermal Pellutiors

A factory releases clean, warm water into a streEme. stream becomes
severely polluted as a result. How does this happ&sh living in the water v
depend on dissolved oxygen in order to breathee biker gases, oxygen %’o
molecules tend to spread out. In order to disstiteen, it is necessary to
confine them. Anything that makes it easier for gasicles to spread out /(2
reduces their solubility. This is obvious when daoan is opened, reducing’ =
the pressure, or if a soda is stirred. Heat spdedmolecules up and al 3
makes them spread out more. This is exactly thesifgof what is neede
to dissolve them. As a result, heat drives the erygut of the water,
causing the fish to die. The dead fish begin t@ageGrowing decay bacteria
deplete the water of oxygen even further. In trayvelean warm water can
pollute a stream. When this occurs, it is catlegt mal pollution.

Warm water is great,
as long as you’re
dressed for it!

Answer the questions below based on your reading above and on your knowledge of physics.

1. A warm can of soda is dropped and bounces dofligha of stairs. When it is opened, carbon dioxghes
coming out of solution causes it to spray all o¥aplain the affect of each of the following:

a. The fact that the soda was warm.

b. The fact that the soda was dropped and bouncgd ddlight of stairs.

c. The fact that the can was opened.

2. When a gas dissolves, the particles need to fegned. Why does heat make it harder for gasesssnt/e?

3. Wateris used in may power plants and factodesdoling. The hot water produced as a by-prodsictleased

into a natural body of water causing the tempeeatoirise. How does this cause pollution?
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